

6)

$$y = \frac{x^2 - 2x}{x^2 - 1}$$

①

cases:  $x=0$ ;  $y = \frac{0}{-1} = \underline{0} \Rightarrow \underline{(0,0)}$

$$y=0: \frac{x^2 - 2x}{x^2 - 1} = 0$$

$$x^2 - 2x = 0$$

$$x(x-2) = 0$$

$$\downarrow \quad \downarrow$$

$$\underline{x=0} \quad \underline{x=2} \Rightarrow \underline{(0,0) \text{ \& } (2,0)}$$

symmetry  $\frac{(-x)^2 - 2(-x)}{(-x)^2 - 1} = \frac{x^2 + 2x}{x^2 - 1}$

$f(-x) \neq \pm f(x)$   
 $\Rightarrow$  No Symmetry

critical pts  $\frac{dy}{dx} = \frac{(2x-2)(x^2-1) - 2x(x^2-2x)}{(x^2-1)^2}$

$u = x^2 - 2x \quad v = x^2 - 1$   
 $u' = 2x - 2 \quad v' = 2x$

$$= \frac{2x^3 - 2x - 2x^2 + 2 - 2x^3 + 4x^2}{(x^2-1)^2}$$

critical pts  $= 0 \Rightarrow \frac{2x^2 - 2x + 2}{(x^2-1)^2} = 0$

$$2x^2 - 2x + 2 = 0$$

$$x^2 - x + 1 = 0$$

$$b^2 - 4ac = (-1)^2 - 4 \times 1 \times 1$$

$$= 1 - 4$$

$$= \underline{\underline{-3}}$$

AS  $b^2 - 4ac < 0$

$\Rightarrow$  No real pts exist

As  $\frac{dy}{dx} = 0$  has no solution

53  
56)  $\frac{dy}{dx} = \frac{2x^2 - 2x + 2}{(x^2 - 1)^2}$

(2)

$$u = 2x^2 - 2x + 2$$

$$u' = 4x - 2$$

$$v = (x^2 - 1)^2$$

$$v' = 2(x^2 - 1) \cdot 2x = 4x(x^2 - 1)$$

$$\frac{dy}{dx} = \frac{(4x-2)(x^2-1)^2 - (2x^2-2x+2)4x(x^2-1)}{(x^2-1)^4}$$

$$= \frac{(4x-2)(x^2-1) - 4x(2x^2-2x+2)}{(x^2-1)^3}$$

$$= \frac{4x^3 - 4x - 2x^2 + 2 - 8x^3 + 8x^2 - 8x}{(x^2-1)^3}$$

$$= \frac{-4x^3 + 6x^2 - 12x + 2}{(x^2-1)^3}$$

$f' = 0$  for POI to exist

$$\frac{-4x^3 + 6x^2 - 12x + 2}{(x^2-1)^3} = 0$$

$$-4x^3 + 6x^2 - 12x + 2 = 0$$

$$-2(2x^3 - 3x^2 + 6x - 1) = 0$$

$$1 \left| \begin{array}{cccc} 2 & -3 & 6 & -1 \\ \downarrow & & & \\ 2 & -1 & 5 & X \end{array} \right.$$

$$-1 \left| \begin{array}{cccc} 2 & -3 & 6 & -1 \\ \downarrow & & & \\ 2 & -5 & 11 & X \end{array} \right.$$

As cubic doesn't factorise  $\Rightarrow$  No POI



53

(3)

$$y = \frac{x^2 - 2x}{x^2 - 1} = \frac{x^2 - 2x}{(x-1)(x+1)}$$

Extremes of  
Asymptotes

2 Vertical Asymptotes exist at  $x = \pm 1$

$x \rightarrow 1^+$	$y \rightarrow \infty^-$	$x \rightarrow -1^+$	$y \rightarrow \infty^-$
$x \rightarrow 1^-$	$y \rightarrow \infty^+$	$x \rightarrow -1^-$	$y \rightarrow \infty^+$

Horizontal Asymptote ( $x \rightarrow \pm \infty$ )

$$y = \frac{x^2 - 2x}{x^2 - 1} = \frac{1 - 2/x}{1 - 1/x^2}$$

$x \rightarrow +\infty$	$y \rightarrow 1^-$
$x \rightarrow -\infty$	$y \rightarrow 1^+$

Summary  $(0,0), (2,0)$  No Max/Min/POI

